Component 12/Unit 7
Quiz 
Directions: Select the most appropriate answer.

1. Clinical decision-making is a systematic way to handle data and clinical algorithms to

a. decide on the best course of action

b. to achieve the best financial return

c. ensure standardization

d. support scholarly publication

2. A step-by-step procedure for solving a problem is

a. an allegory

b. an algorithm

c. an MLM

d. a checklist

3. Each of the following is a type of uncertainty except: 
a. technical

b. personal

c. contextual

d. conceptual

4. An example of direct use of HIT to deal with uncertainty is: 
a. establishing a communication infrastructure

b. establishing evaluation of processes of care

c. establishing what is known about best practice

d. establishing evaluation of outcomes of care

5. The initial phase of HIT development in a human-centered design cycle is: 
a. design prototype

b. evaluate prototype

c. analyze workflow

d. specify context of use

6. An example of a quantitative workflow analysis method is: 
a. video recording

b. ethnographic observation

c. shadowing individual clinicians

d. focus groups

7. Current workflow and future workflow are the two main components of

a. a project management plan

b. a workflow integration matrix

c. a predictive analytics template

d. a clinical analytics model

8. The defining feature of critical care cognitive task analysis is 

a. uncertainty management

b. strategic planning

c. team coordination

d. pattern recognition

9. A rectangle is used in a process flow chart to depict. 
a. the start of a process

b. a delay

c. an action or instruction

d. the end of a process

10. Mapping of current processes should include all of the following except: 
a. process redesign recommendations

b. bottlenecks

c. non-value added steps

d. inefficient use of workforce skills
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